
Quadratics
1C S2

(α− β)2 = (β − α)2 = s21 − 4s2

α =
1

2
(s1 + (α− β))

β =
1

2
(s1 + (β − α))



Cubics
A3 C S3

((α− β)(α− γ)(β − γ))2 = s21s
2
2 − 4s31s3 − 4s32 − 27s23 + 18s1s2s3

t1 = α2β + β2γ + γ2α =
1

2
(s1s2 − 3s3 + (α− β)(α− γ)(β − γ))

t2 = αβ2 + βγ2 + γα2 =
1

2
(s1s2 − 3s3 − (α− β)(α− γ)(β − γ))

1CA3

(α+ ωβ + ω2γ)3 = (β + ωγ + ω2α)3 = (γ + ωα+ ω2β)3 = s31 − 3s1s2 + 9s3 + 3ωt1 + 3ω2t2

(α+ ωγ + ω2β)3 = (β + ωα+ ω2γ)3 = (γ + ωβ + ω2α)3 = s31 − 3s1s2 + 9s3 + 3ωt2 + 3ω2t1

(α+ ωβ + ω2γ)(α+ ωγ + ω2β) = s21 − 3s2

(β + ωγ + ω2α)(β + ωα+ ω2γ) = s21 − 3s2

(γ + ωα+ ω2β)(γ + ωβ + ω2α) = s21 − 3s2

α =
1

3
(s1 + (α+ ωβ + ω2γ) + (α+ ωγ + ω2β))

β =
1

3
(s1 + (β + ωγ + ω2α) + (β + ωα+ ω2γ))

γ =
1

3
(s1 + (γ + ωα+ ω2β) + (γ + ωβ + ω2α))



Quartics
A4 C S4

((α− β)(α− γ)(α− δ)(β − γ)(β − δ)(γ − δ))2

=((αβ + γδ)− (αγ + βδ))2 · ((αβ + γδ)− (αδ + βγ))2 · ((αγ + βδ)− (αδ + βγ))2

=− 128s22s
2
4 − 4s31s

3
3 + 16s42s4 − 4s32s

2
3 − 27s41s

2
4 + 18s1s2s

3
3 + 144s21s2s

2
4 − 192s1s3s

2
4

+ s21s
2
2s

2
3 − 4s21s

3
2s4 − 6s21s

2
3s4 + 144s2s

2
3s4 + 256s34 − 27s43 − 80s1s

2
2s3s4 + 18s31s2s3s4

t1 = (αβ + γδ)2(αγ + βδ) + (αγ + βδ)2(αδ + βγ) + (αδ + βγ)2(αβ + γδ)

=
1

2
(s1s2s3 + 8s2s4 − 3s21s4 − 3s23 + (α− β)(α− γ)(α− δ)(β − γ)(β − δ)(γ − δ))

t2 = (αβ + γδ)(αγ + βδ)2 + (αγ + βδ)(αδ + βγ)2 + (αδ + βγ)(αβ + γδ)2

=
1

2
(s1s2s3 + 8s2s4 − 3s21s4 − 3s23 − (α− β)(α− γ)(α− δ)(β − γ)(β − δ)(γ − δ))

V CA4

((αβ + γδ) + ω(αγ + βδ) + ω2(αδ + βγ))3 = ((αγ + βδ) + ω(αδ + βγ) + ω2(αβ + γδ))3

= ((αδ + βγ) + ω(αβ + γδ) + ω2(αγ + βδ))3

= s32 + 9s23 + 9s21s4 − 24s2s4 − 3s1s2s3 + 3ωt1 + 3ω2t2

((αβ + γδ) + ω(αδ + βγ) + ω2(αγ + βδ))3 = ((αγ + βδ) + ω(αβ + γδ) + ω2(αδ + βγ))3

= ((αδ + βγ) + ω(αγ + βδ) + ω2(αβ + γδ))3

= s32 + 9s23 + 9s21s4 − 24s2s4 − 3s1s2s3 + 3ωt2 + 3ω2t1

((αβ + γδ) + ω(αγ + βδ) + ω2(αδ + βγ)) · ((αβ + γδ) + ω(αδ + βγ) + ω2(αγ + βδ)) = s22 + 12s4 − 3s1s3

((αγ + βδ) + ω(αδ + βγ) + ω2(αβ + γδ)) · ((αγ + βδ) + ω(αβ + γδ) + ω2(αδ + βγ)) = s22 + 12s4 − 3s1s3

((αδ + βγ) + ω(αβ + γδ) + ω2(αγ + βδ)) · ((αδ + βγ) + ω(αγ + βδ) + ω2(αβ + γδ)) = s22 + 12s4 − 3s1s3

p1 = αβ + γδ =
1

3
(s2 + ((αβ + γδ) + ω(αγ + βδ) + ω2(αδ + βγ)) + ((αβ + γδ) + ω(αδ + βγ) + ω2(αγ + βδ)))

p2 = αγ + βδ =
1

3
(s2 + ((αγ + βδ) + ω(αδ + βγ) + ω2(αβ + γδ)) + ((αγ + βδ) + ω(αβ + γδ) + ω2(αδ + βγ)))

p3 = αδ + βγ =
1

3
(s2 + ((αδ + βγ) + ω(αβ + γδ) + ω2(αγ + βδ)) + ((αδ + βγ) + ω(αγ + βδ) + ω2(αβ + γδ)))



1C V

(α+ β − (γ + δ))2 = (γ + δ − (α+ β))2 = s21 − 4s2 + 4p1

(α+ γ − (β + δ))2 = (β + δ − (α+ γ))2 = s21 − 4s2 + 4p2

(α+ δ − (β + γ))2 = (β + γ − (α+ δ))2 = s21 − 4s2 + 4p3

(α+ β − (γ + δ)) · (α+ γ − (β + δ)) · (α+ δ − (β + γ)) = s31 − 4s1s2 + 8s3

α =
1

4
(s1 + (α+ β − (γ + δ)) + (α+ γ − (β + δ)) + (α+ δ − (β + γ)))

β =
1

4
(s1 + (α+ β − (γ + δ)) + (β + γ − (α+ δ)) + (β + δ − (α+ γ)))

γ =
1

4
(s1 + (α+ γ − (β + δ)) + (β + γ − (α+ δ)) + (γ + δ − (α+ β)))

δ =
1

4
(s1 + (α+ δ − (β + γ)) + (β + δ − (α+ γ)) + (γ + δ − (α+ β)))


